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The figures in the indrgin indic'at_e f
' full marks for the questions.

1. Answer the followmg quesuons IXS%S
4(A) ‘Fmd out the correct answers :

(@) Complete hydrolys1s of protems
produces—

() NH, and co,
(i) Glycogen and fatty acid
(iii) Urea and’ Urlc a01d

(iv) a mixture of amino acids
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(b) | Substances which red_uce the rate - 2. >'Answer the following : (any ﬁve) 2x5—10

“of enzyme catalyzed reactions are . | . ' (a) “Thiophere is less reactlve than furan’.
known as : - / 1 Explain.

'(i) s'uﬁétrates L | : ’ (b) Why the b01l1ng pomt of ethylamme '
o ' :  (CH,CH,~ NH,) is less than that of ethyl .

enzymes | 2 v

L - | aléohol (CH,CH,OH). -
(i) products : o | " {c). Arrange the followmg “sets of
(iv) inhibitors | R . SR compounds in increasing order of

(c) The heterocyclic diene employed in - vasicity. - B ~ |

cyclo-addition reaction is— - | Set1: (i) CH,CH, - NH2
’ ~ (i) CH,CONH,

(). - Furan |
e : . : ' - (i) C,H,CONH, :
. {ii) = Pyrrole | | S . f) CHNH,
b (i) Thiophe'ne o ~© Setll: () p-toluidine
(iv) 2, 5- dunethyl pyrrole | B T () p-nitroaniline .

(i) N, N-dimethyl-p-toluidine
, v . ~ {(iv) aniline ;
Hydroxy acids undergo intramolqcular ' - (d) Give the different. types of bonds '

esteriﬁ_cation in the presence of acid ‘ B reSpon81ble for the tertlary structure of
.- catalyst to yield ' '

(B) Fill 1n the blank

proteins.

(e) .How will you synthesme alanme from
o ethyl chloride ? '

~ (C) Write the structure of nicotine.
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How can you prepare menof.carboxylic'
, a01ds from—

@) 'a primary alcohol
(i) an aldehyde | '

Explain briefly why ethyl benzoate

' (Ph-COOE(). can not undergo clalsen '

condensa’uon react10n

How will you prepare lactlc ac1d from- "

acetylene ?

Write chemical reactions for the .

(i) :
following transformations— 1x2=9.
() CH,CHj CooH
(i) CH,Co0K
BO6FN 0062B | 4

o 1x2=2

(]) Complete the followmg reaction—

@—0H+O N—.—OH RN N“OH 5

3. Answer any four from the followmg

(@ ()
@)

®)- @

()

- (iti)

fiv)

~ BO6FN 0062B

5%4=20

. How substituted pyridines can be

prepared by Hantzsch synthesis? 2-

Explain the Fisher Indole synthesis -

with mechanism. 3

‘How .will you establis‘h' the
~ presence of pyridine nucleus in

nicotine ?. o 2

What class of alkaloid does

. nicotine belongs to ? 1

What happen when aliphatic
primary amine is diazotized ? 1

Mention one application of -
diazotization reaction. . 1
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(c) (a) lee one method of preparanon of

 each of— | 1x3 3
@) Furan
(i) Pyrrole

) Thlophene

(b) complete the followmg reactlons—

1x2=2

',- CHCl ; KOH R
Y [ N] heat, s ~ 1

H -

o [O) = »

N7

(@ ). Compare the basicities of furan,

pyrrole and thiophene. = 3

‘ (i) .'Explain briefly why furan is less

, ., reactive than pyrrole : 2
(e) Descnbe the following (any two) :

2Y5x2=5

(i) 1SO-electric -point of amino
- acid
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(ii) ', Denaturation of proteih
(uz) Enzyme mhlbltors |

(ﬂ Wnte a short note on the effect of nng
substltuents on the baswltles of
‘aromatic ammes

(g) i) What is Hoffman'n Exhaustive
| ‘Methylation rea_etieh 72
(1] ‘Identify the products of the

~ following compounds by using
Hoffmann Exhaustive Methylation

reaction. - - . 1x3=3

i) |
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(i) 2RCH,COOR'-

* M Epram various types of electronic
; transm1ssmns poss1ble for organic

| compounds in uv-visible spectroscopy.

. OR

:(ii) In :IR sp‘ectros,copy, absorption :

signals for molecular vibrations are

recorded. What are ‘these

‘molecules vibrations ?

Show the types of molecular
vibrations possible in a molecular
of the type A,x where ‘X’ is called
anchor atom. '

4. Answer any four from the following :
| 1x10=10

(A) Find out the products A and Bin the

following reactions :. 2x5=10
() - CH;CH, -NoO, Br,/NaOH , gBra/NaOH o

(). NaOR"
(i) H*/H,0

> A+ B

Li

(iti) @ + CO, y a2, g
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(v) R-CN

| " MeCOCI .

m ¥

(iv) . . R l4 -
H . KOH,CO,
I B

H*/H,0

S A
( hydrolysis

\Hy/Pd-C -

.+ Or B
o LiA|H4

(B) (a) -What is chromophore ? Give one
' example . 1

(b) Calculate the Mmaz Of the following
compounds— _ - 2x2=4

@

Hee
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: (4’:) ‘How will you disﬁnguish. between— 3 ~, o B | Furan
%% .. L (@ Thiophen
ol (i) Pyrrole
i) Pyridine
,‘ () In aquous splution, an amino acid
f : ) e):is?:s_as— ‘ _ o '71 .
(i) cation |
(i) (i) anion

| | o (iii) dianion
by using'H?-spectrosCopy

(iv) Zwitter-ion
- (d) What is overtone and combmatlon

. bond ? S 2 o (c) Write the name of the optlcally macnve

" (C) (a). Explain why carboxylic acids.are . amino acid. . 9
- much more acidic than alcohol, o o _ ' ,
whereas phenols are weaker a01ds ' (d)ﬁ Why the 'electrophilic ‘Substitution of

‘ than carboxylic acids. . . 3 | - furan usually takes place at C-2

(b) - Find out the correct answer— position ? B 9

- ) " Which one of the following.5-
| membered heterocycle is most
resonance stabilized ? -1 ' ' o 2

| (gf Write Paal-Knorr synthesis of furan.
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(D) (a) What is H1nsberg reagent ? How
will you d1st1ngu1sh between 1°, 2°
and 3° ammes by using Hinsberg
reagent. S 1+3=4

(b){'.Why'aniline can .not undergo ) .-
Friedél Craft react10n and n1trat10n s
reactlon 2 4

(o) How ‘Wlll yod‘prép‘arelethyl.a'rnine .
- by Gabriel synthesis ? - 2
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